
 
 

  
 

ZNALECKÝ POSUDEK 
-  

 

 

 

 

 

  
  
  
  
 e-  
   
 
 

  
  
 
 
  
 

OBVYKLÁ CENA  

       

   



- 2 - 
 

 

 

 
 

 

 

 

 

 

 
 



- 3 - 
 

 

 
 

 

 
-  
-  
-  
-  

 

 
 

 
 

 
 

- 
 

 

  
- 

 
 

 
 

 



- 4 - 
 

 

 

 

 
-  
-  
-   

 
 

 
  

  

 
 

 

 
 

 
 

 
 

 
 

  
  

  
 

  
  

  
 



- 5 - 
 

 

 POSUDEK 
 

 
  

  
  

  
  
  

  
  

  
  

2 

 
  P  

 V   
-  IV   

 

IV   

 IV   

 
II   

 VI   
 

      2 

 

 
 

 
 

 

   
 

  
Úprava 

 
 

 
 

          
          



- 6 - 
 

           
          

-   60 113,26 

 
 

 
Zá  

 
  Index T Úprava 

 
 

- -   
  -          

-   -  
 

  
 

 
[m   

 
 

 
 

        - 
-   -  

        - 
 -   -  
- celkem    4 460,- 

-  =   

 

 

-  
 

 
 

 
 

 
 

 
 

 
  

 
 

-   
-

 
    

       
-    

-   
 o  -    

 o  -    
 o     -  

- -     
    

- - celkem    
  



- 7 - 
 

 

 
 

 
 

 

 
 

 
 

 
  

 
 

-   
-

 
    

       
-    

-   
 o  -    

 o  -    
 o     -  

 - -     
    

-Quercus robur - celkem    
  

 
 

 
 

 

 
 

 
 

 
  

 
 

-   
-

 
    

 
       

-    
-   

 o  -    
 o  -    

 o     -  
V - -     

    
- - celkem    

  

 
 

 
 

 

 
 

 
 

 
  

 
 

-   
-

 
    

 
       

-    
-   

 o  -    
 o  -    

 o     -  



- 8 - 
 

- -     
    

- - celkem    
  

 
 

 
 

 

 
 

 
 

 
  

 
 

-   
-

 
    

       
-    

-   
 o  -    

 o  -    
 o     -  

- - celkem    
  

 
 

 
 

 

 
 

 
 

 
  

 
 

-   
-

 
    

       
-    

-   
 o  -    

 o  -    
 o     -  

- - celkem    
  

 
 

 
 

  

 
 

 
 

 
  

 
 

-   
-

 
    

       
-    

-   
 o  -    

 o  -    
 o     -  

- - celkem    
  



- 9 - 
 

 
 

 
 

 

 
 

 
 

 
  

 
 

-   
-

 
    

       
-    

-   
 o  -    

 o  -    
 o     -  

- - celkem    
  

 
 

 
 

 

 
 

 
 

 
  

 
 

-   
-      

       
-    

-   
 o  -    

 o  -    
 o     -  

-Quercus robur - celkem    
  

-     

-  =   
 



- 10 - 
 

 

  

  
  

 

 
 

 

 

 

 

 

 

 
  860  

  
 

  -  
-    

 
-   

-   
-   

-   
-   

 -   
-   

-   

 

     
 [ m   JC   KC   
    10,20 

     
 



- 11 - 
 

 

  262  
  

 
 

 
-   

-   
-   

-   
-   

-   
-   

-   

  

  
     
 [ m   JC   KC   
    12,51 

     
 

   
 -  

 
 

 
-   

-   
-   

-   
-   

-   
-   

-   

 

      
 [ m   JC   KC   
    9,91 

     
 

  

  

  

 

 

 

 



- 12 - 
 

 

  
2 ]  

2 ] 
  

 
      
      
      
      
      
      

 13 143  142 865 
 

 
 

  
   

   

-    

  -  
 

 

  

  

  
 

  
  

  -  
 

  

  
   

 

  

  

  



- 13 - 
 

 

 

 

 
 

OBVYKLÁ CENA  
  

 

 
 

 

 
 
 



- 14 - 
 

 

 

 
  

 
 

 
  

 

 

 

-  

 

 

 

 

 
 

 

Zpracováno programem NEM  
 


